
1. �><??5>F4F<O  

 

 

�5=5D4F>D �>4>D>4=>= �>4O �4DO4=>5 'EFD>=EF6> 

 
 

USB->455?L �=EFDG>F<O �>?L7>64F5?O 

 

  

 



2. �5M<5 E6545=<O 

�4<<5=>64=<O E>EF46=OE G4EF5= �5=5D4F>D4 �>4>D>4=>= �>4O 

 

 

�DOL>4 

�>D?GE/�GFO?>4 

�474/�E=>64=<5 

 

-?5>FD>4 

 
 ��-4<E??5= �?46<L4 

6>?NG5=<O 

USB-D47N5< 

 



3. �E?>?L7>64=<5 

�455D<F5 6>4G 6 5GFO?>G 

 

 
�=<<4=<5: 
�5 <E?>?L7G=F5 747<D>64==GN 6>4G, MF> ?D<6545F 

> D>EFG ?5FGG<E 747>6 ?D< M?5>FD>?<75 < 6OE>4G 
?D<5>D4 <7 EFD>O. 

&5<?5D4FGD4 6>4O =5 4>?6=4 ?D56OL4FL 60°C. 

 

 

A. �D>F5EE ?D<7>F>6?5=<O 6>4>D>4=>= 6>4O 

�46<<F5 >?46<LG 6>?NG5=<O. �D>76GG<F 76G>>6>= E<7=4?, F65F=O5 >7=< 
6=GFD< >E=>64=<< =4G=GF E65F<FLEO, M>D4= >F>5D47<F =44?<EL «ORP 

WATER», 74F5< >F>5D47<FEO GD>65=L 74DO44 54F4D5< < =4G=5FEO ?D>F5EE 
>5>74M5=<O 6>4O 6>4>D>4><, >>F>DO= 5G45F E>?D>6>644FLEO 
4=<<4F<>==O< <7>5D465=<5< =4 M>D4=5. 
* �5D54 ?5D6O< <E?>?L7>64=<5<, 4?O 444?F4F<< M?5>FD>44 ?D<5>D4 > 6>45, >EF46LF5 
?D<5>D 74?>?=5==O< 6>4>= =4 12 G4E>6. �>64?G=EF4, 6O?5=F5 MFG 6>4G. 



** �E?< GEFD>=EF6> =5 M>E??G4F<D>64?>EL =5E>>?L>> 4=5= (3-5 < 5>?55), ?>=44>5<FEO 
?D>65EF< =5E>>?L>> F<>?>6 (4> 5) 4?O 6OE>44 75=5D4F>D4 =4 ?>?=GN <>M=>EFL. 

 

 

 B. �>>=G4=<5 ?D>F5EE4 

�D5<O ?D<7>F>6?5=<O 6>4>D>4=>= 6>4O E>EF46?O5F 5 <<=GF, ?> 
<EF5G5=<< >>F>DOE ?D>76GG<F 46>==>= 76G>>6>= E<7=4?. ->D4= 
?5D5EF4=5F E65F<FLEO < ?D<5>D 46F><4F<G5E>< 6O>?NG<FEO. 

 

C. �D5DO64=<5 ?D>F5EE4 

�> 6D5<O D45>G57> ?D>F5EE4, GF>5O 7465DL<FL D45>FG <?< >F>?NG<FL 
?<F4=<5, =46<<F5 >=>?>G ?<F4=<O 6 F5G5=<5 1 E5>G=4O. ->D4= 
6O>?NG<FEO < ?<F4=<5 >F>?NG<FEO 46F><4F<G5E><. 

 

D. �4DO4>4 ?D<5>D4 

1. �>744 =4 ��-4<E??55 >F>5D47<FEO «?GEF4O 54F4D5O», MF> >7=4G45F 
=5>5E>4<<>EFL 74DO4<FL 57> E ?><>MLN 74DO4=>7> GEFD>=EF64. 

�<74NM<= >D4E=O= <=4<>4F>D 6=GFD< >E=>64=<O <??NEFD<DG5F 
?D>F5EE 74DO4><. �> 7465DL5=<< ?D>F5EE4 74DO4>< <=4<>4F>D 
747>D<FEO 75?5=O< F65F><. �D<5>D 7>F>6 > <E?>?L7>64=<N. 

 

 



 

USB-6E>4 
74DO4=>7> 
GEFD>=EF64 

4. �E?>?L7>64=<5 74DO4=>7> GEFD>=EF64  

�E5744 >F>?NG4=F5 74DO4=>5 GEFD>=EF6> ?>E?5 ?>?=>= 74DO4><. 

�4==>5 74DO4=>5 GEFD>=EF6> ?D54=47=4G5=> F>?L>> 4?O MF>7> ?D<5>D4. 

�D><76>4<F5?L =5 =5E5F >F65FEF65==>EF< 74 ?>E?54EF6<O <E?>?L7>64=<O 
4DG7<E 74DO4=OE GEFD>=EF6. 

 

5. �7D4=<G5=<O < GE>4 

�?O ?>?GG5=<O 6>4>D>4=>= 6>4O =5 <E?>?L7G=F5 =<>4><E 4DG7<E 
6<4>>EF5=, >D><5 6>4O. �>64?G=EF4, =5 ?5=F5 6>4G ?>E?5 ?5D6OE FDUE 

?GE>>6 ?D<5>D4. 

�5 ?D><76>4<F5 ?D>F5EE >5>74M5=<O 6>4O 6>4>D>4>< 5>?55 46GE D47 
?>4DO4 557 E=OF<O >DOL><. -F> ?D<6545F > ?>6OL5=<N 446?5=<O 6=GFD< 
?D<5>D4 < ?>6D54<F 57> >><?>=5=FO. �>E?5 >>>=G4=<O >464>7> ?D>F5EE4 
>F>DO64=F5 >DOL>G < =4E?4644=F5EL 6>4>D>4=>= 6>4>=.  

�D<5?<7<F5?L=> ?>E?5 10 ?D>F5EE>6 M?5>FD>?<74 ?D><O64=F5 5GFO?>G 

<7=GFD< < E=4DG6< >5OG=O< <>NM<< ED54EF6><. �5 <E?>?L7G=F5 
D4EF6>D<F5?< <?< ?5FGG<5 6<4>>EF<! 

�5 ?><5M4=F5 ?D<5>D 6 <<>D>6>?=>6GN ?5GL, =5 EF46LF5 =4 M?5>FD>??<FG 
< =5 D47<5M4=F5 DO4>< E >7=U<. �5 EF46LF5 6 E>?>4<?L=<>. 

�4?D5M5=> E4<>EF>OF5?L=> D475<D4FL >E=>64=<5/547G GEFD>=EF64 3 MF> 
?>6?5GUF >F>47 6 74D4=F<<. 

6. &5E=<G5E>>5 >5E?G6<64=<5 M?5>FD>4=>= ??4EF<=O 



%> 6D5<5=5< =4 ?>65DE=>EF< M?5>FD>44 <>65F >5D47>64FLEO 6<4<<O= 
<765EF>>6O= =4?5F. �?O >G<EF>< M?5>FD>44 < 6>EEF4=>6?5=<O 
?D><76>4<F5?L=>EF< ?D>F5EE4 6OD45>F>< 6>4>D>44 <E?>?L7G=F5 D4EF6>D 
?<<>==>=� ><E?>FO. $4EF6>D<F5 5 7D4<< ?<<>==>=� ><E?>FO 6 350 <? 
FU??>=� 6>4O, 74?5=F5 D4EF6>D 6 5GFO?>G < >EF46LF5 ?D<<5D=> =4 10 G4E>6. 
�>E?5 >G<EF>< E?5=F5 D4EF6>D < =5E>>?L>> D47 >?>?>E=<F5 5GFO?>G ?5D54 
<E?>?L7>64=<5<. 
�4<5G4=<5: �5 6>?NG4=F5 ?D<5>D, ?>>4 5GFO?>4 74?>?=5=4 >G<EF=O< 
D4EF6>D><! 

 

6. %4D4>F5D<EF<>< < ?D<=F<? D45>FO 

 

$47<5D �<4<5FD �<>>EFL 

Heat 

preservation 

effect 

�5E 

70x70x270mm 27mm 500ml / 310g 

�4<<5=>64=<5 �5=5D4F>D 6>4>D>4=>= 6>4O OLS-A 

Material 
Eastaman Tritan (>>D?GE) LGH1315 (-?5>FD>4)  

Slicone (G??>F=<F5?L=O5 >>?LF4) 

 

� ?D<5>D5 =4E>4<FEO ?D>F>=>>5<5==4O <5<5D4=4 (Proton Exchange 
Membrane <?< PEM). �5<5D4=4 >4=>6D5<5==> O6?O5FEO F6UD4O< 
?>?<<5D=O< M?5>FD>?<F>< (Solid Polymer Electrolyte <?< SPE), 6 >>F>D>< 
< ?D><EE>4<F M?5>FD>?<7. �46=>, GF> E4<4 6>44 =5 ?>465D745FEO 
M?5>FD>?<7G, >=4 F>?L>> =4EOM45FEO 6>4>D>4><. 

�D>F>=O 6E>4OF 6 <5<5D4=G >4> ?>?>6<F5?L=> 74DO65==O5 G4EF<FO < 
46<6GFEO > >4F>4G (>FD<F4F5?L=><G M?5>FD>4G). �<E?>D>4 ?D>=<>=GFL 6 



?D>F>=>>5<5==GN <5<5D4=G =5 <>65F. �4 >4F>45 ?D>F>=O E>54<=ONFEO 
E M?5>FD>=4<< < >5D47G5FEO 6>4>D>4. 

%<EF5<4 E F65D4O< ?>?<<5D=O< M?5>FD>?<F>< (SPE) ?>76>?O5F 
<E?>?L7>64FL 6>4G >5D4F=>7> >E<>E4, =5 4>546?OO E>?5= 4?O 5>?LL5= 
?D>6>4<<>EF<.  

 

7. &5E=<G5E><5 E4D4>F5D<EF<>< 
 

�<F4=<5 DC5V/1A 

&>> 400mA 

�>FD55?O5<4O <>M=>EFL 2W 

�>?<G5EF6> F<>?>6 D45>FO �>>?> 12 D47 

�<>>EFL 4>>G<G?OF>D4 1000 mAh 

�?46=>EFL 6>74GE4 �5 5>?55 80% 

&5<?5D4FGD4 6>4O 1°C~60°C 

�D<<5=<<4O 6>44 
�<FL564O 6>44, <<=5D4?L=4O 
6>44, >G<M5==4O 6>44 

 

 

8. �5DO ?D54>EF>D>6=>EF< 
�5 6>?NG4=F5 ?<F4=<5, 5E?< 6 5GFO?>5 =5F 6>4O. -F> <>65F ?D<65EF< > 
6OE>4G ?D<5>D4 <7 EFD>O. 



�5D6>5 <E?>?L7>64=<5 

�?>?>E=<F5 5GFO?>G.  %?5=F5 (=5 ?5=F5) 6>4G ?>E?5 ?5D6OE FDUE F<>?>6 
M?5>FD>?<74. 

 

&5<?5D4FGD4 >>DG64NM5= ED54O 

�>64?G=EF4, <E?>?L7G=F5 6 EGE>< ?><5M5=<< ?D< F5<?5D4FGD5 20 ~ 50°C. 

 

'<EF>4 

�5 <E?>?L7G=F5 >D74=<G5E><5 D4EF6>D<F5?< 4?O G<EF>< 5GFO?><. 
 

%D4=5=<5 6>4>D>4=>= 6>4O 

%F4D4=F5EL 6O?<FL 6>4>D>4=GN 6>4G =5?>ED54EF65==> ?>E?5 
?D<7>F>6?5=<O. %D4=5=<5 >5>74M5==>= 6>4O 6 >F45?L=>= 75D<5F<G=>= 
5<>>EF< 6 E>?>4<?L=<>5 ?D>4?5645F 6D5<O 5U 4>F<6=>EFL.  

 

�5 4>?GE>4=F5 =4<>>4=<O >E=>64=<O ?D<5>D4 

�5 ?><5M4=F5 547G E M?5>FD>4>< F5?<>>< 6 6>4G. -F> <>65F ?>6?5GL 
>>D>F>>5 74<O>4=<5 < 6OE>4 ?D<5>D4 <7 EFD>O. 

 

�75574=F5 ?DO<OE E>?=5G=OE ?GG5= < >FD<F4F5?L=OE F5<?5D4FGD 

�5 D47<5M4=F5 ?D>4G>F ?>4 ?DO<O<< E>?=5G=O<< ?GG4<<. 
�5 ED4=<F5 < =5 ?>465D74=F5 <745?<5 6>745=EF6<N >>DG64NM5= ED54O 
=<65 0°C. 


